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5.  (3x4+A)% =92 +Bx+3— A o, 3AB O] 3L-Z oto=t (B A>0
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o % A4Eal7h vt 8 2L

@ 4a? - 2ab = 2a(a - b)

@ x? 4 20x—100 = (x + 10)?
® —x2+1=(x+1)(-x-1)
@ x2-Tx+12= (x-2)(x—6)

® 10x% 4+ 23x - 21 = (x4 3)(10x = 7)



2 2= 27ax? - 12ay = nt2 7 01283 oF AL?

@D (3ax - 3y)? @ 3%(3ax - 4ay)?
® 3a(3%ax — 4ay)? @ 3a(3x+ 2y)(3x —2y)

® 3(9ax? - 4ay?)






9. abtfEsAd, \/(2-v3)" - /(1-V3)" = a+bV3IA
a— b2 g F-stofet.
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10. o2 % 3v5-V20+ V32-2V18 & 71H5] 512 o, 2HE
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022 Foj AlFTREE B AlFLe g F3H A

2 AL?
= 0 1 2 3 4
2.0 1.414 | 1,418 | 1,421 | 1,425 | 1,428
2.1 1.449 (1,453 | 1,456 | 1,459 | 1,463
2.2 1,483 (1,487 | 1,490 | 1,493 | 1,497
2.3 1,517 11,520 | 1,523 | 1.526 | 1,530
2.4 1.549(1.552 | 1,556 | 1.559 | 1,562
20 4.47214.483 (4.494 | 4,506 | 4,517
21 4.58314.593|14.604 | 4.615| 4.626
22 4.690(4.701 | 4,712 | 4,722 | 4,733
23 4.796 | 4.806 | 4,817 | 4,827 | 4,837
24 4.89914.909 | 4.919 | 4.930| 4.940

® V0.2 = 0.4472 @ 210 = 14.49

® V220 =14.83 @ +0.23 = 47.96

® +/0.0024 = 0.04899
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14. 932 5x+y E A 2 Aot JdeEsfiste Aol ot
g5 a, boll st a—b & 27 (Fa>b)

(5x+y)(bx+y-3)-18
=A(A-3)-18
=A?-3A-18=(x+y+a)(bx+y+b)

@D 4 ® 6 B 7 @ 8 ® 9
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15. a= V80, b= Vizs 2 o, & o] & f-shefet.
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17. o5 B7)oA o]apA Al o] 7j=0
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@ 2x%2 -5 = x?
© x*=-x+2
© x*=0

@ x?=(x-1)2+x*
@ x(x*+1)=x>+x2-1

® 2x2-5x-1=2(x>-1)

@D 370 @ 470 3 570 @ 670 & 770



18. o= F 4 A, Bl Histo] A + BE Al4Tstolzt

A= -y - (v
5= 52+ (2vio)
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D a-b>0
@ ab>0

T AL ab7ta=V8-3,b=-
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@ b-a<0

® a+1>0
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@ ab+b-a-1=(a+1)(1-b)

@ 2-a-2b+ab=(1-b)(2+a)

@ -y +2x+2y=(x-y)(x-y+2)
@ 3P+ +x+1=+1D)(x+1)

® x(y-1)-2(y-1)= (x-2)(y-1)
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